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y(&x>y) LCM, 1613 |

W m=—gmm oy @

) I at
six bells commence tolling together and toll d
intervals. of 2 4 6, 8 10 and 12 seconds

espectively. n a minutes, how mAany times do
these six bells to]) together 2

1 16

(2) 16

3 4

4 10

(6) Not attempteq

LCM of two prime numbers x and y (x > y) is 161.
The value of (3y — x) is

m 1.
2 2

@ -2
4) -1

(5) Not attempted

Ifm=-4and n=— 2, then the value of
m3—3m2+3m+3n+31i2+n3

is :
m3—3m2+3m+3n+3n2+n33ﬂmﬁm 1) -126
1) -126 (2 -128
(2) -128 @) -120
3) -120 4 -124
(4) -124 (5) Not attempted
(6) I 7€ 2 ==y
1 ‘
. | . If 3'718 = 0-2689, then the value of 1
. L1 _oeset @ = ] _ 00003718
R 3718 0 8 0-0003718 Y 18:
(1) 26890 (1)‘ 26890
(2) 0-2689 (2) 02689
3). 2689 (3) 2689
(4 2-689 4) 2.689
(5) IW 7 T 9=
(5)  Not attempteq
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20.
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lem fotv r
----- imaton. Candidata are ... P nonted for the safe

descrlbed the

Notest, 5,
prank Notestein in 194 pment and

relatlonShlP between economic de"?lo

J—
Loss of lives in epidemics
Cartographic boundaries

| Social crime rate
Death and Birth rate
Not attempted

Which among the following will not be ordinarily
considered an outcome of globalization ?

(1)
@)
3)
@)
®)

Foreign Direct Investment
Multilateral trade agreements
Outsourcing

Tariff barriers

Not attempted

Which of the following industries has the

- maximum concentration in the Chhotanagpur

Plateau region ?
(1) Fertilizer Industry

Automobilg Industry
(3)
(4)

(6)

Sugar Industry
~Iron and Stee] Industry
Not attempted

Nataraja is g bronze sculptyre in a dancing
Position associateq with

(1) Kali

(2) Nangj
3)  Krishng
(4)  Shiva
6)

——

Not attempteq
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s, on I T T A F e ey, 66 credit. for propagating

1 w framr Movement if'l Haryana goes to
() I T e (1) Ram Kishore

(3) o e 2 Thakur Ram Singh

(4) 9. W wmi 3) Lala Murlidhar

(5) IWIE & u=R (4) Pt. Nekiram Sharma

(5) Not attempted

. - eabal
6L A 8 T3 ehamn 1 v 0 m 4 2 g7 Which of the following is known as the T2 Mah

SV AR of Haryana ?

(2) wfen g H mewa (1) - Sheikh Chilli’s Tomb
(3) ¥w wew (2) Ibrahim Suri’s Tomb
(4) 9 ¥Wgd (3) Sheesh Mahal

(5) I T A <R (4) Jal Mahal

(5) Not attempted

68, Fraferiga & & b e 38 w9 =1 eI geEi g ‘ _
Tt o wman 2 68. Which among the following folk.dance forms 18
not performed by men ?

(1) &
@ < g; g:mm
aupailyan
@) @ paty
§ T (3) Loor
( (4) . Daph
(5) IO G AT =R .

(5) Notattempted

69. ufsa g 9 F1 v TR & FrfafEd 8 9 ¢ py Lakhmi Chand was born in which of the

i & g1 ? following village of Haryana ?
(1) SdFen 4 (D Jantikalan

2 @@ (2) Sihi

3) W (3) Mokhra

4) T . (4) Nahri

(5) I T & A& (6) Not attempted

70. gt § fed aw g A gRI T7E MU G 70. The fort of Asigarh situated in Hansi was built by

¥ it %1 fmfor e vt & 7 2 Prithviraj Chauhan in which century ?
1) 14t 78 (1) 14" century
@ 174 & (2) 17" century
(3) 124 @@ (3) 12 century
@) 154 @ (4) 15" century
(5) 3w 4 ¢ <R (5)  Not attempted
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XaL=2
PQH=2
LaF=2

1 x

2 -

3) +

@+

(5) I ¢ 1 9=
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P R A T R 2
(1) <=
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(5) I TE A1 <
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817.

88.

Three statements are
conclusions, Take the state

if they seem t, be at variap
known facts.

followed by three

ments to be true even
ce from the commonly

Decide whijch
conclusiong logicall

statementg,

of the given
y follow(s) from the given

Statements : Some apples are grapes.
All grapes are bananas.
Some plums are grapes.
Conclusions (D)
(089)

a1n
Only I71 follows

Only I and 111 o110y

Some bananag are plums,
Some apples are bananas.

All bananas are grapes.-
(1)

(2)
(3)

| Only I ang II follow

(4) Only I1 followsg
(5) Not attempted

What is the value of ‘o’ in this pattern ?

XaL =92
PaH=2 -
LaF=2

1) x

2) -

@ =

@)

(5). Not attempted

P, Q; R, S, T went on a picnic. ‘P’ is the son of ‘Q’.
But ‘Q’ is not the father of P’. ‘R’ is the son of ‘S’

- who is the brother of ‘P’. ‘T’ is the wife of ‘S’.

How is ‘P’ related to ‘R’ ?

(1) Uncle
(2) Father
(8) Nephew

(4) Brother
(5) Not attempted
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97. gé a’iﬁ?’ a% §) D, B TFHfa & = £l * A4 B,C D, E and F are sitting in a circle facing

% Ry o ain 391 2 th";l centre. ‘D’ is on the immegiate right of B
B, THOPE TR g 2| ¢ D and ‘B is not the immediate pejghbour of F. ‘¢’

SR TH T Eac 1 & . f;’l:’etween ‘A’ and ‘D", Who are the neighbours of
(1 AIMB (1) AandB

(2 C3WD 2 CandD

(3 B3MD (3) BandD

4 A3NRE 4 AandE

(5) W AE IR (5) Not attempted

98. NYH TN FEUA W hu mu sy =57 g om9F T 98,

All the hard work done by you at your Workplace
T, S I A= fw oft 2, 3 @ v | AT

is hijacked by one of your colleagues; who is a

] A ? good friend of yours. You will :
(1) oRem 1 T @, 6y qhem & RO (1) continue hard work as hard work always
T N AR | pays. e
2 3N FE H @GF v FQ T | (2) start praising about your work yourselt.
' . (3). leave the job.
3) A BT |
(( 4)) 5 ‘HS@I;:\ ¥ anrt 3EE S FY | (4) criticise him in front of other colleagues.
(5) Not attempted
(5) I TE A=A
. ! 99. Find the value of p in the series
99. 3@ J@e H p F AH Fa KT : 111 1
1, - y Ao M ’
L, 2 ) '37 9™ a1’ 243
3’9 81 243 1
1) 1 (1) 929
29 . 1
12
@) 319 ) ag
1
3
(3) % 3 27
1
1 4
4) 01 ‘ @ 21
100. f= R M fawedl 4 @ qw §& F 991 g 100 Choose the missing number from the given
Rraq g&mn s!@m LRSI options that will complete the number series :
55, 56, 58, 61, 65, _ 55, 56, 58, 61, 65, __
‘a n 1 71
Q) 172 2) 172
3) 170 3) 170
4) 69 4) 69
(5) IR AL &1 ATEQ (5) Not attempted
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